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5()(5(1&( 127(6

+RXUO\ 3UHFLSLWDWLRQ 'DWD �+3'� DUH REWDLQHG IURP UHFRUGLQJ UDLQ JDJHV�
7KH UDLQ JDJH PD\ EH ORFDWHG DW D 1DWLRQDO :HDWKHU 6HUYLFH� )HGHUDO $YLDWLRQ

$GPLQLVWUDWLRQ� RU &RRSHUDWLYH 2EVHUYHU 6WDWLRQ� +3' WLPH UHVROXWLRQ LV ��
PLQXWHV RU � KRXU� 3XEOLVKHG GDWD DUH GLVSOD\HG DW DQ KRXUO\ UHVROXWLRQ�

3UHFLSLWDWLRQ YDOXHV LQ WKLV EXOOHWLQ DUH LQ LQFKHV� 7LPHV DUH ORFDO VWDQGDUG�

6WDQGDUG UDLQ JDJH W\SHV�

) :HLJKLQJ JDJH � UHSRUWHG LQ LQFKHV WR WHQWKV
7 7LSSLQJ EXFNHW � UHSRUWHG LQ LQFKHV WR KXQGUHGWKV

8 :HLJKLQJ JDJH � UHSRUWHG LQ LQFKHV WR KXQGUHGWKV
1 1RW VSHFLILHG

+3' PD[LPD FRYHU � WLPH SHULRGV IURP �� PLQXWHV WR �� KRXUV DQG GR QRW
QHFHVVDULO\ HQG RQ ZKROH KRXUV� 6WDWLRQV WKDW UHSRUW KRXUO\ GDWD RQO\ ZLOO

QRW KDYH PD[LPD FRPSXWHG IRU SHULRGV OHVV WKDQ � KRXU� ,I DQ\ GDWD DUH
PLVVLQJ� QR PD[LPD DUH FRPSXWHG� 0$;,080 $&&808/$7,21 LV WKH ODUJHVW
DFFXPXODWHG SUHFLSLWDWLRQ DPRXQW IURP WLPHV ZLWK XQNQRZQ GDWD GLVWULEXWLRQ

GXULQJ D PRQWK� &ORFN PHFKDQLVPV VRPHWLPHV VWLFN RU VWRS� VRPH RI WKH
VSHFLDO V\PEROV LQ WKH +3' VHFWLRQ DUH XVHG ZKHQ VXFK µVLJQDWXUHVµ DUH IRXQG LQ
WKH GDWD�

,QIRUPDWLRQ FRQWDLQHG LQ WKH VWDWLRQ QDPH�

�� 5DLQ JDJH HTXLSSHG ZLWK D ZLQG VKLHOG�

� ,QDFWLYH VWDWLRQ� 6\PERO IRXQG E\ VWDWLRQ QDPH LQ WKH 6WDWLRQ ,QGH[�

� ([SHULPHQWDO UDLQ JDJH RU XQXVXDO PHDVXUHPHQW SURFHGXUH ZKLFK

PD\ KDYH VRPH HIIHFW RQ +3'�
&RPPRQ W\SHV DUH�

�� UDLQ JDJH ZLWK D KHDWHG RULILFH
�� UDLQ JDJH ZLWK DQ DXWRPDWLF VLSKRQ

�� UDLQ JDJH ZLWK D UHPRWH RULILFH DQG IXQQHO

� 6: RU RWKHU QXPEHUV DQG OHWWHUV IROORZLQJ WKH QDPH� LQGLFDWH WKH

GLVWDQFH LQ PLOHV� DQG WKH GLUHFWLRQ� IURP WKH QHDUHVW SRVW RIILFH�

6SHFLDO V\PEROV LQ WKH +3'�

D %HJLQ DFFXPXODWLRQ VRPHWLPH ZLWKLQ WKH KRXU SHULRG RU GD\ SHULRG�

$ (QG DFFXPXODWLRQ GXULQJ WKH GD\ RU KRXU� :LOO IROORZ WKH GLVWULEXWLRQ

DPRXQW�


 7HPSRUDO GLVWULEXWLRQ XQNQRZQ� )LUVW +3' YDOXH WKDW IROORZV LV WKH WRWDO

DFFXPXODWHG DPRXQW�

( (VWLPDWHG PRQWKO\ WRWDO E\ VSDWLDO PRGHOOLQJ�

L ,QFRPSOHWH KRXUO\ WRWDO� 2QH ��� RU PRUH �� PLQXWH SHULRGV DUH PLVVLQJ�

, ,QFRPSOHWH GDLO\ RU LQFRPSOHWH PRQWKO\ WRWDO� 2QH ��� RU PRUH SHULRGV
DUH PLVVLQJ�

3 'DLO\ RU PRQWKO\ WRWDO H[FOXGHV KLJKO\ VXVSHFW GDWD YDOXH�V��

T +RXUO\ WRWDO H[FOXGHV RQH ��� RU PRUH TXHVWLRQDEOH �� PLQXWH SHULRGV�

��

4 4XHVWLRQDEOH �� PLQXWH GDWD� 6HHQ LQ 0D[LPD WDEOHV�

5 7LPH RI RFFXUUHQFH LV VXVSHFW� $PRXQW LV LQFOXGHG LQ GDLO\ WRWDO�

7 7UDFH DPRXQWV DUH LQFOXGHG RQO\ IRU )HGHUDOO\ IXQGHG
PHWHRURORJLFDO REVHUYLQJ VLWHV�

; 9DOXH JUHDWHU WKDQ ���� � UHIHU WR +RXUO\ 3UHFLSLWDWLRQ 6HFWLRQ IRU
GDLO\ WRWDO�

= 3UREDEOH PHOWLQJ IUR]HQ SUHFLSLWDWLRQ LQFOXGHG LQ WRWDO�

> %HJLQ PLVVLQJ SHULRG GXULQJ WKH KRXU �LQFOXVLYH� RU GD\�

@ (QG PLVVLQJ SHULRG GXULQJ WKH KRXU �LQFOXVLYH� RU GD\�

^ %HJLQ GHOHWH SHULRG GXULQJ WKH KRXU �LQFOXVLYH� RU GD\�

` (QG GHOHWH SHULRG GXULQJ WKH KRXU �LQFOXVLYH� RU GD\�

P 'DWD PLVVLQJ IRU SDUW RU DOO RI WKH SHULRG�

� 'DWD GHOHWHG IRU SDUW RU DOO RI WKH SHULRG�

� 'XSOLFDWH PD[LPD IRU VDPH WLPH SHULRG� ODWHVW LV VKRZQ�

127(� 0LVVLQJ �P� IODJ LQ WKH 0217+/< 35(&,3,7$7,21 727$/6 SDJH FDQ
UHSUHVHQW PLVVLQJ DQG�RU GHOHWHG GDWD IRU SDUW RU DOO RI SHULRG�

127(� 2QO\ WKH ILUVW DQG ODVW URZV RI ORQJ JURXSV RI PLVVLQJ �P��

GHOHWHG ���� DQG DFFXPXODWHG �
� GDWD DUH VKRZQ�

127(� 7KH VSHFLDO V\PEROV LQ WKH +3' DSSHDU DV D VXIIL[ WR W\SH µ)µ YDOXHV�

RU GLUHFWO\ EHORZ W\SH µ7µ DQG W\SH µ8µ JDJH YDOXHV�

127(� 7,33,1* %8&.(7 SUHFLSLWDWLRQ JDJHV EHFRPH LQFUHDVLQJO\ LQDFFXUDWH ZLWK

LQFUHDVLQJ UDLQIDOO LQWHQVLWLHV� 7,33,1* %8&.(7 JDJHV DOVR PD\ 127
FRUUHFWO\ UHSRUW WKH DPRXQW RU WLPH GLVWULEXWLRQ GXULQJ IUR]HQ RU
IUHH]LQJ SUHFLSLWDWLRQ HYHQWV �L�H� VQRZ� KDLO� VOHHW� RU IUHH]LQJ UDLQ��

127(� 8VHUV RI GDWD IURP WKLV SXEOLFDWLRQ PD\ QRWLFH WKDW GDLO\ WRWDOV PD\

GLIIHU IURP WKRVH OLVWHG LQ WKH &/,0$72/2*,&$/ '$7$ �&'� SXEOLFDWLRQ�
7KHUH DUH WZR SULPDU\ UHDVRQV IRU WKH GLIIHUHQFHV� 7KH ILUVW LV EHFDXVH
WKH SUHFLSLWDWLRQ YDOXHV DUH PHDVXUHG E\ WZR GLIIHUHQW JDJH W\SHV� 7KH

VHFRQG UHDVRQ LV WKDW WKH WRWDOV PD\ EH PHDVXUHG DW GLIIHUHQW WLPHV�
0RVW PDQXDO PHDVXUHPHQWV DUH PDGH DW RU QHDU � $0 RU � 30 ORFDO WLPH
ZKLOH WKH GDLO\ WRWDOV IURP WKH KRXUO\ SUHFLSLWDWLRQ JDJHV DUH FRPSXWHG

RQ D PLGQLJKW �FDOHQGDU GD\� EDVLV�

7KH FRQWHQWV RI WKLV SXEOLFDWLRQ PD\ EH UHSULQWHG RU RWKHUZLVH XVHG IUHHO\�
ZLWK SURSHU FUHGLW WR WKH 1DWLRQDO &OLPDWLF 'DWD &HQWHU DQG 12$$� 7KH GDWD

SUHVHQWHG DUH DOVR DYDLODEOH LQ GLJLWDO IRUP RQ PDJQHWLF WDSH DQG GLVNHWWH�

68%6&5,37,21� 35,&( $1' 25'(5,1* ,1)250$7,21 $9$,/$%/( )520�

1$7,21$/ &/,0$7,& '$7$ &(17(5
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